2-2. A

B E[ 2dk

H 5271 20214 12¢ 31 x|
M 517 20204 128 31 SH4x|
HYsH (Shel: Q)
AY = H 52()7| H 51(8)7| AY = H 52(=)7| H 51(8)7|
AHAH HxY
| . FSXHA 1,037,788 991,133| | . RES&A 7,665,890 7,352,885
(1) Z=txpat 185,397 202,568| 1. 2| Atofl 2 126,340 163,954
1. 83 2. AsQaidz 271,691 356,855
2. ol x|Z 3. Mx=F
3. ct|ojof A 4. FFR0HMSF
4. MOl EF 83,378 80,915 5. TEHAZAMTF 40,285 30,881
(3= =) 7,850 7,850| 6. 277X Mol =F 85,531 85,970
(AR 7Fx| gl xt2) 7. IRt F 6,850,000 6,400,000
5. F=EAIGO|$=F (Rt F F)
6. MaZ= 34,057 52,840| 8. 0|X|gH| &
7. &350 F 9. M9
8. FIVIXINMZF 72,868 69,858| 10. 0|X| 2= 211,381 235,351
9. M=l 1. 0|X| g = 30,325 25,291
10. o< 12. ol =&
1. MZH|E 13. TEA M +F
12, 0|3 890 370| 14. |IZEAHA ==
13. E7|tioi= 15. TEfOfoll3
14. §SIEAY 16. =2 A Al 36,311 33,280
15. eIl =753 17. 0| x| S 2UA|
16. 7| Ete| S =tRFA 1,013 1,261 18. A 2FEFAH 1,110
(asgz) 19. HEM (2R =AHH) 14,025 20,192
(B 7bx| &l At ) 1. SHE AL 2
17, Aa+5Ad 1. SHALZ
18. FAMOIXI=3) 1,041 5,175| 2. M oilx==2
(7| EFRFALE AP RFE =7 ) 3. 3=
(2) A O Rp&+ 852,392 788,565| 4. M XI=
1. 42 850,246 786,063 5. M 0|X| 22
(R ILRFAHE b AL A H) . SEE2HAIY LR
2. 4&= 1. S =20 5+=
(R DRPARE 7 Al = A ) . SEEREHAF
3. HE .S EEEOX|
(R LRFAHE b A R A ) IV. B[ FS5X -1,356,880 -831,256
4. NSE 1. &2V |Ad = 300,000
5. 7I3M =2 (Rt F B)
(RH TRFARE b A ) (B 7bx| &l xtF)
6. MZE 2,146 2,503| 2. 7 |MO|X|ZZ
7. MIOXARAL IO A 3. FUEZF 50,000 50,000
8. 7|Et A A& 4. SSAE7IF
(R RS 7 h & AL A H) 5. @AY F
(3) YEXL 6. SOIX| 4 atoby Xt 2
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